PUBLIC PROCUREMENT REGULATORY AUTHORITY (PPRA)

CONTRACT AWARD PROFORMA – I

To Be Filled And Uploaded on PPRA Website In Respect of All Public Contracts of Works, Services and Goods

- NAME OF THE ORGANIZATION/DEPTT. Pakistan Civil Aviation Authority
- FEDERAL / PROVINCIAL GOVT. Federal Govt. (Autonomous)
- TITLE OF CONTRACT <u>PROCUREMENT OF ITEMS / SPARES FOR BARACUDA</u>
 EX-NAWABSHAH UNDER REPAIR GED (S)
- TENDER NUMBER HQCAA/1984/156/XXLA

BRIEF DESCRIPTION OF CONTRACT PROCUREMENT OF ITEMS / SPARES FOR BARACUDA EX-NAWABSHAH UNDER REPAIR GED (S)

- > TENDER VALUE Rs.1,000/-

ESTIMATED COMPLETION PERIOD 90 Days

WHETHER THE PROCUREMENT WAS INCLUDED IN ANNUAL PROCUREMENT PLAN? Yes Yes / No

- > ADVERTISEMENT :
 - (i) PPRA Website Yes (TS-489585E) dated 07-09-2022 Yes / No (Federal Agencies) (If yes give date and PPRA's tender number)
 - (ii) News Papers <u>NIL</u> Yes / No (If yes give names of newspapers and dates)
- > NATURE OF PURCHASE Local / International
- EXTENSION IN DUE DATE (If any) No Yes / No

168

1 caa 26527 . (1

- WHETHER QUALIFICATION CRITERIA WAS INCLUDED IN BIDDING/TENDER DOCUMENTS Yes / No (If yes enclose a copy). (ANNEXURE-B)
- WHETHER BID EVALUATION CRITERIA WAS INCLUDED IN BIDDING/TENDER DOCUMENTS Yes / No (If yes enclose a copy). (ANNEXURE-C)
- WHICH METHOD OF PROCUREMENT WAS USED: (Tick one)
 - a) SINGLE STAGE ONE ENVELOPE PROCEDURE
 - b) SINGLE STAGE TWO ENVELOPE PROCEDURE.
 - c) TWO STAGE BIDDING PROCEDURE.
 - d) TWO STAGE TWO ENVELOPE BIDDING PROCEDURE.
 - PLEASE SPECIFY IF ANY OTHER METHOD OF PROCUREMENT WAS ADOPTED WITH BRIEF REASONS (i.e EMERGENCY, DIRECT CONTRACTING, NEGOTIATED TENDERING ETC.)
 - WHO IS THE APPROVING AUTHORITY _____D. Engg. Services
- WHETHER APPROVAL OF COMPETENT AUTHORITY WAS OBTAINED FOR USING A METHOD OTHER THAN OPEN COMPETITIVE BIDDING.
- > NUMBER OF BIDS RECEIVED ONE (01)
- WHETHER THE SUCCESSFUL BIDDER WAS LOWEST BIDDER Yes / No
- > WHETHER INTEGRITY PACT WAS SIGNED NO Yes / No

<u>ATTACHMENT – II</u> (See regulation 2)

PUBLIC PROCUREMENT REGULATORY AUTHORITY (PPRA)

CONTRACT AWARD PROFORMA – II

<u>To Be Filled And Uploaded on PPRA Website In Respect of All</u> Public Contracts of Works, Services & Goods

NUMBER OF BIDDERS PRESENT AT THE TIME OF OPENING OF BIDS NIL

- NAME AND ADDRESS OF THE SUCCESSFUL BIDDER_ <u>M/s. ABBASI TRADERS</u>, <u>ADDRESS: 28 2ND FLOOR DILKUSHA CHAMBERS MARSTON ROAD PALAZA KARACHI.</u>
- RANKING OF SUCCESSFUL BIDDER IN EVALUATION REPORT (i.e. 1st, 2nd, 3rd EVALUATED BID). <u>01st MOST ADVANTAGEOUS BIDDER</u>

NEED ANALYSIS (Why the procurement was necessary?) FOR PCAA HQCAA

IN CASE EXTENSION WAS MADE IN RESPONSE TIME, WHAT WERE THE REASONS (Briefly describe).

 N/A

>	WHETHER NAMES OF THE BIDDERS AND THEIR PRICES WERE READ OUT AT
	THE TIME OF OPENING OF BIDS Yes / No
A	DATE OF CONTRACT SIGNING <u>16-02-2023</u> (Attach a copy of agreement) (ANNEXURE-D)
8	CONTRACT AWARD PRICE Rs. 1,231,400/-
~	WHETHER COPY OF EVALUATION REPORT GIVEN TO ALL BIDDERSYesYes / No (Attach copy of the bid evaluation report) (ANNEXURE-E)
4	ANY COMPLAINTS RECEIVED No Yes / No (If yes result thereof)
A	ANY DEVIATION FROM SPECIFICATIONS GIVEN IN THE TENDER NOTICE/DOCUMENTS <u>No</u> Yes / No (If yes give details)
4	DEVIATION FROM QUALIFICATION CRITERIA No Yes / No (If yes give details)
A	SPECIAL CONDITIONS, IF Any (Give Brief Description) N/A

[F.No.2/1/2008PPRA-RA.III]

32

ANNEXURE-A

O



IT NO. HQCAA/1984/156/XXLA

PROCUREMENT OF ITEMS / SPARES FOR BARRACUDA DATE OF BID OPENING: 27-09-2022 FOLLOWING FIRMS PURCHASED THE BIDDING DOCUMENTS

s/NO	NAME OF SUPPLIERS	DATE OF BID PURCHASED	HABIB METRO DEPOSIT SLIP NO. AND DATE	BID FEE RS.	FIRMS PARTICIPATE
1.	M/s. Global Linites Trading of Salutions (PV+) of Led M/s. Abbali Tradels	13-09-22	12743335	1000 /=	
2.	MIS. Abbali Tradels	20-09-22	1273 5028	1000/~	ok
3.					
4.					-
5.					
6.					
7.					2.
8.	÷				
9.					
10.					

PPRA TENDER NO. TS-489585-E

-tre
And and a support of the local division of
SAA 2
State States

PAKISTAN CIVIL AVIATION AUTHORITY (PCAA) INVITATION TO BID

Sealed bids (in accordance with **PPRA Rule No. 36(b)** are invited by below mentioned office for the following requirements in Pak Rs.:-

S.No	Description & IT No.	Tender Fee (Rs.)	Fixed Bid Security	Bid Submission Date/Time	Bid Opening Date/Time/Place	Basis PKR (Price)
1.	Procurement of Items/Spares for Barracuda No. HQCAA/1984/156/XXLA	1000/-	Total Rs.30,500/-	27-09-2022 11.00 Hours (strict)	27-09-2022 11.30 Hours (strict) Log. Centre South	F.O.R

Bids may be submitted as per conditions set out in Bidding documents obtainable from under mentioned office through request letter which must be attached with bank challan, proofs of Active Taxpayer (GST), GST/NTN Certificates & Professional Tax certificate of the bidder. Bidding documents can be obtained on any working day between 0900 Hrs to 1300 Hrs (subject to change in working hours/timings due to Govt. Orders) by paying Bid Fee (non-refundable) through bank challan in Account No.6-01-02-20614-714-115525 in Habib Metropolitan Bank Ltd. Star Gate Branch, Karachi, Pakistan in favour of Civil Aviation Authority. No Bidding Documents would be issued on the Bid opening date. Bids must be dropped in Bid Box placed at under mentioned office by or before due date as per schedule. Time period for performance of contract: Till the satisfactory completion of contract and warranty period. PCAA reserves the right to accept/reject any or all bids due to cogent reasons which will be communicated to bidders on request. This advertisement is also available on PPRA website at www.ppra.org.pk, and CAA website www.caapakistan.com.pk.

Warning: Any financial instrument submitted by bidder, if found fake or got dishonored at any stage would result in blacklisting and legal action as per law.

Additional Director, Logistics (APS), Logistics Center (South), HQs Civil Aviation Authority, JIAP Karachi. Tel:9907-2689 Fax:021-9924-2784

AN	N	E	X	V	K	t

CIVIL AVIATION AUTHORITY INVITATION TO TENDER (SUPPLY OF EQUIPMENT/STORES)

(LOCAL / FOREIGN)

Technical BASIS FOR DATE TENDER NUMBER 8930 QUOTATION REQUIRED BY TENDER TO OPEN AT/ABOUT P.R.NO. 26536 DATE ON: DATE ON: SUPPLIER'S ADDRESS 2022/09/27 11:30:00 2022/09/27 11:00:00 DELIVERY PERIOD TERMS VALIDITY OF OFFER 180 Days ENCLOSED* 90 Days Tender Description : Procurement of Items/Spares for Barracuda I.T.No. HQCAA/1984/156/XXLA

S.NO.	Item Code	SCHEDULE OF EQUIPMENT/S DESCRIPTION	UOM	Quantity	Unit Price	Total Price	Rebate
1	G-003-0019	Cotton Waste	Dozen	- 1			
2	M-066-0002	Filter Engine Oil P# PF911L / 23530407 P/o Barracuda	EACH	1			
3	M-066-0005	Air Filter (Outer) P# Donaldson P77-2536 Or Equivalent P/o Barracuda	EACH	1			
4	M-066-0006	Air Filter (Inner) P# Donaldson P77-1073 Or Equivalent P/O Barracuda	EACH	1			
5	M-066-0020	Cap Radiator P# 103392 P/o Barracuda	EACH	1			
6	M-066-0027	Oil Seal Front Engine # 23514608 P/O Barracuda LFCT 6x6	EACH	1			
7	M-066-0028	Oil Seal rear engine # 5106329 P/O Barracuda LFCT 6x6	EACH	1			
8	M-066-0029	Cylinder Head Gaskit P# 5199674 P/O Barracuda	EACH	1			
9	M-066-0041	Transmission Filter P# PALL, HC 8200 FKN-8Z P/o Barracuda	EACH	1			
10	M-066-0067	Quad Protection valve repair kit #107245 make Bendix Or Equivalent P/O Barracuda LFCT 6x6	EACH	1			
11	M-066-0098	Cabin Tube Light P/O Barracuda LFCT 6x6	EACH	1.			
12	M-066-0156	Repair Kit for Monitor Diffuser Cylinder P/o Barracuda	EACH	1			
13	M-066-0236	Power Divider Filter P# UCC,63124 P/O Barracuda	EACH	1			
14	M-066-0237	Air lubricator of FRL unit P/O Barracuda LFCT 6x6	EACH	- 1			
15	M-066-0271	Valve set p/o aircompressor P/O Barracuda LFCT 6x6	EACH	1			
16	M-066-0392	Repair Kit Lock/ Un-Lock Cylinder Monitor P/o Barracuda	EACH	1			
Your	M-066-0397	Air Charging Plug (Male/Female) P/o Barracuda	EACH	1			
18	M-066-0425	Air Filter Air compressor for repair of Air	EACH	1			
19	M-066-0496	Seal Kit Monitor Assembly P# C50/90144 P/o Barracuda	EACH	1			
20	M-066-0605	Filter Steering MANN P9 19/7 763314110 LFCT P/o Barracuda	EACH	1			
21	M-066-0639	Rubber Seal Power Divider 4 x 4 mm	EACH	1			
22	M-066-0653	Fuel Tank Cap p/o LFCT	EACH	1			
23	M-066-0778	Air Dryer Assy P.no.1188801 make Bendix Or Equivalent P/O Barracuda	EACH	1			
24	M-066-0798	Non Return Valve size 3/8" for Baracuda	EACH	1			
25	M-066-0814	Battery Charging Plug P/O Barracuda	EACH	1			
26	M-066-0874	O-ring Kit bumper turret P/O Barracuda	EACH	1			
27	. M-066-0894	Valve Nitrogen High Pressure size 1/4inch	EACH	1			
28	M-066-0952	Hose Pipe 3"x 6" P/O Barracuda	EACH	1			

29	M-066-0953	Hose Pipe 2.5"x 6" P/O Barracuda	EACH	1	and the second s
30	M-066-0969	Air Manifold 10mm 5way P/O Barracuda	EACH	1	
		Repair Kit for Power Divider Cylinder P/o Barracuda	EACH	1	
31	M-066-1012	Repair Kit for P.T.O Cylinder P/o Barracuda	EACH	1	The second
32	M-066-1013		EACH		
33	M-066-0065	Quick Exhaust Valve P# 103474 P/O Barracuda LFCT 6x6		2	
34	M-066-0200	Double Check Valve P# BW 115177 P/O Barracuda LFCT 6x6	EACH	2	
35	M-066-0364	Fan Belt P/No DYCO 11502405 P/O Barracuda LFCT 6x6	EACH	2	
36	M-066-0554	R-15 Relay Valve Pneumatic make Bendix Or Equivalent P/o Barracuda LFCT 6X6	EACH	2	
37	M-066-0594	Map Reading Light for Baracuda	EACH	2	
38	M-066-0679	V-Belt # 3399 for Power Stearing of Barracudda LFCT	EACH	2	and the second s
39	M-066-0853	Repair Kit HI / Low Cylinder Monitor P/O Barracuda	EACH	2	The state of the s
40	M-066-0971	Air Manifold 6x10mm 6way P/O Barracuda	EACH	2	
41	M-066-0141	Pump pressure gauge #114617 P/O Barracuda LFCT 6x6	EACH	3	
42	E-002-0023	Painting brush 2 inch	EACH	4	
43	F-006-0141	Iron Sheet 4'X8' 18 Gauge	EACH	4	
44	G-018-0535	WD-40 Spray For rust Cleaner (400ml)	EACH	4	
45	M-066-0313	Thrust Washer STD# 5117005 P/O Barracuda LFCT 6x6	EACH	4	
	M-066-0492	1/2 Inch Ball valve P/O Barracuda LFCT	EACH	4	
46		1/4 inch Ball valve for Barracuda LFCT	EACH	4	
47	M-066-0803				
48	M-066-0903	Clamp Hose 2" (S.S) P/O Barracuda	EACH	4	
49	M-066-0956	Clamp Hose 3" P/O Barracuda	EACH	4	
50	M-020-0133	Bulb 24v- 25w # MH 056201	EACH	5	
51	M-020-0134	Bulb 24V- 25/10W # MH 056200	EACH	5	
52	M-066-0176	Water Foam Inicator sensor P/O Barracuda LFCT 6x6	EACH	5	And the second s
53	M-066-0950	Main Bearing Set P# 5149568 / 5149565 P/O Barracuda	EACH	5	
54	H-002-0043	Silicon Tube	EACH	6 .	
55	M-066-0644	Hose Clamp Assoted Sizes	EACH	6	
56	M-066-0782	Elbow Push Fitting 10 X1/4 P/o Barracuda	EACH	6	the second s
57	M-066-0835	Rubber Seal Quick Coupling 2.5" P/O Baracuda	EACH	6	**************************************
58	M-066-0911	Elbow 12mm x 1/2 P/O Barracuda	EACH	6	
59	M-066-0972	Ferrule Fitting Union 6mm x 6" Inch P/o Barracuda	EACH	6	
60	M-066-0995	Branch Tee 1/4" P/o Barracuda	EACH	6	
61	M-066-0996	Branch Tee 3/8" P/o Barracuda	EACH	6 .	
62	M-066-1002	Connector ferrule fitting 12x1/2 P/o Barracuda	EACH	6	
63	M-066-1009	Ferrule Fitting Connector size: 10mm x 3/8" Inch P/o Barracuda	EACH	6	
64	M-066-1011	Ferrule Fitting Union 8mm x 8' inch P/o Barracuda	EACH	6	
65	F-002-0390	Battery Terminal large / Meduim Copper	EACH	8	and the second s
66	M-066-0949	Can Rod Bearing Set 0.20 US P# 5149577 P/O Barracuda	EACH	8	
67	F-006-0117	Angle Iron 1" x 1" inch (Required in Feet)	EACH	10	Manager and an international statements and an an and a
68	M-066-0944	Bush 3/8 x M22 P/O Barracuda	EACH	10	Contraction and an annual sector of the sect
69	M-066-1010	Ferrule Fitting Connector 6mm x 1/4" Inch P/o Barracuda	EACH	10	
70	M-066-0395	Elbow ferrule fitting 6x1/4 P/o Barracuda	EACH	12 .	
71	M-066-0549	Elbow Push Fitting 6mm x 1/4 P/o Barracuda	EACH	12	
72	M-066-0570	Connector ferrule fitting 10X1/4 P/o Barracuda	EACH	12	
73	M-066-0741	Pneumatic Connector 8x1/4 P/o Barracuda	EACH	12	
74	M-066-0781	Elbow ferrule fitting 12 X3/8 P/o Barracuda	EACH	12	
75	M-066-0910	Elbow ferrule fitting 10 x 3/8 P/O Barracuda	EACH	12	

6B

76	M-066-0946	Bush 1/8 x 1/4 P/O Barracuda	EACH	12			
7	M-066-0947	Bush 1/4 x 3/8 P/O Barracuda	EACH	12			
78	M-066-1003	Femule Fitting Connector size: 6mm x1/8"inch P/o Barracuda	EACH	12			
79	M-066-1005	Ferrule Fitting Elbow Size: 6x1/8 P/o Barracuda	EACH	12			
30	M-066-0837	M/S Squire Pipe 14 swg size 1.5" X 1.5" X 10' feel P/O Baracuda	EACH	20			
81	F-002-0314	Bolt with Nut Size 8 x 25mm	EACH	24			
82	F-002-0452	Bolt with Nut 10 x 25 inch	EACH	24	-		
33	F-003-0310	Bolt with Nut 6 x 25	EACH	24			
84	M-066-0072	Brake lining (01 set = 01 wheels) # R3201/57G P/O Barracuda LFCT 6x6	EACH	24			
85	M-066-0899	Connector femule fitting 12x3/8 P/O Barracuda	EACH	24			
86	M-066-0732	Pneumatic Pipe 12mm P/O Barracuda (Required in feet)	EACH	25			
37	G-011-0102	Teflon Tape	EACH	42			
38	G-008-0168	Emery Paper 320-150-220 21/2	EACH	50			
39	M-081-0306	Auto Wire 5mm P/O OSHKOSH GENRATOR	Feet	1		*	
90	M-066-0901	Rubber Hose 2" P/O Barracuda	Feet	4			
91	M-066-0536	Pneumatic Pipe 4mm P/o LFCT	Feet	6			
92	M-066-0805	Nylon Pipe size 4" With SS Clamp for Baracuda	Feet	7			
93	F-006-0157	M/S Strip Iron 1.5" inch width	Feet	10			
34	M-066-0938	Pneumatic Pipe 8mm P/o Barracuda	Feet	15			
95	M-066-0737	Pneumatic Flexible Pipe 10mm P/o Barracuda	Feet	25			
96	M-066-0939	Pneumatic Pipe 6mm P/o Barracuda	Feet	25			
97	H-003-0083	Policate (Glasso)	Kilogram	2			
98	H-003-0131	Washing Powder	Kilogram	2			
99	H-004-0012	Grease	Kilogram	5			
00	H-005-0046	Coolant mixture for Baracuda NALCOOL - 2000 or Equivalent	Litre	3		MT	
01	H-004-0064	Steering Oil DEX II	Litre	4			
02	H-004-0074	Hydraulic oll for Monitor Powerpack for Baracuda Shell Tellus 22 or Equivalent	Litre	10			
03	H-004-0010	Mixing Oil or Turpine Oil	Litre	20			
04	H-004-0114	Transfer Case Oil Shell Remola R1 SAE-40W for Oshkosh,	Litre	25			
05	H-005-0100	Engine Oil for Barracuda Thinner	Litre	30			
106	H-004-0115	Power Divider Oil SAE/SW-40/DEL.1310 / SAE 10W for Barracuda	Litre	40			
107	G-003-0224	Cotton malmal Cloth For Cleaning	Meter	5			
108	H-003-0002	Green Oil Paint IČI	Quart	1			
109	H-003-0172	Paint Mat Black (Faskot)	Quart	1			
110	H-003-0013	PAINT ENAMEL WHITE	Quart	2			
111	H-003-0015	Covering Paint	Quart	4			
112	H-003-0058	Paint red (Duco)	Quart	10			
113	G-011-0003	Plastic Tape 1"	Reel	4			
	G-011-0068	Insulation Tape	Roll	4			*11=1-12

	1				er
115	M-066-0101	Wiper Blade with Arms # 116072-9 P/O Barracuda LFCT 6x6	Set of	1	
116	M-066-0270	Ring set for air compressor #282525 std. P/O Barracuda LFCT 6x6	Set of	2	
117	H-003-0110	Liquor hardner for paint mixing	Set of	3	
118	H-003-0169	Oil Paint Black (quarter)	Tin	1	
119	H-003-0051	Paint gray ?	Tin	2	 -

Note:-

- a) Bidders are requested to read carefully and abide by the General Terms and Conditions printed on the reverse of I/T Form.
- b) Sample of contract is attached with bidding documents. Price quoted should be inclusive of all applicable taxes but excluding SST.

c) For submission of bid please follow single stage two envelope procedure as per PPRA Rule-2004 clause 36 (b).
 d) Lowest bidder shall be declared on the basis of package price i.e. total cost of all items. All bidders must quote all items.

e) Technical Literature/Brochure must be attached. If any query may kindly be addressed to Adl. D. E&M.

	TENDER'S (SUPPLIER)	
	REF	GRAND TOTAL
SIGNATURE	DATE	SIGNATURE OF ISSUING OFFICER
NAME	TELEPHONE	

To be submitted with Technical Offer

60

CIVIL AVIATION AUTHORITY INVITATION TO TENDER (SUPPLY OF EQUIPMENT/STORES) (LOCAL / FOREIGN)

CAAF-S-103 CAAF-S-103A Financial

6E

BASIS FOR DATE TENDER NUMBER 8930 QUOTATION REQUIRED BY TENDER TO OPEN AT/ABOUT P.R.NO. 26536 SUPPLIER'S ADDRESS DATE ON: DATE ON: 2022/09/27 11:00:00 2022/09/27 11:30:00 DELIVERY PERIOD TERMS VALIDITY OF OFFER 180 Days ENCLOSED* 90 Days Tender Description : Procurement of Items/Spares for Barracuda I.T.No. HQCAA/1984/156/XXLA

S.NO.	Item Code	SCHEDULE OF EQUIPMENT/S DESCRIPTION	UOM	Quantity	Unit Price	Total Price	Rebate
1	G-003-0019	Cotton Waste	Dozen	1			
2	M-066-0002	Filter Engine Oil P# PF911L / 23530407 P/o Barracuda	EACH	1			
3	M-066-0005	Air Filter (Outer) P# Donaldson P77-2536 Or Equivalent P/o Barracuda	EACH	1			
4	M-066-0006	Air Filter (Inner) P# Donaldson P77-1073 Or Equivalent P/O Barracuda	EACH	1			
5	M-066-0020	Cap Radiator P# 103392 P/o Barracuda	EACH	1			
6	M-066-0027	Oil Seal Front Engine # 23514608 P/O Barracuda LFCT 6x6	EACH	1			
7	M-066-0028	Oil Seal rear engine # 5106329 P/O Barracuda LFCT 6x6	EACH	1	- Second		
8	M-066-0029	Cylinder Head Gaskit P# 5199674 P/O Barracuda	EACH	1			
9	M-066-0041	Transmission Filter P# PALL, HC 8200 FKN-8Z P/o Barracuda	EACH	1			
10	M-066-0067	Quad Protection valve repair kit #107245 make Bendix Or Equivalent P/O Barracuda LFCT 6x6	EACH	1			
11	M-066-0098	Cabin Tube Light P/O Barracuda LFCT 6x6	EACH	1			
12	M-066-0156	Repair Kit for Monitor Diffuser Cylinder P/o Barracuda	EACH	1			
13	M-066-0236	Power Divider Filter P# UCC,63124 P/O Barracuda	EACH	1			
14	M-066-0237	Air lubricator of FRL unit P/O Barracuda LFCT 6x6	EACH	1 -	3.		
15	M-066-0271	Valve set p/o aircompressor P/O Barracuda LFCT 6x6	EACH	1			
16	M-066-0392	Repair Kit Lock/ Un-Lock Cylinder Monitor P/o Barracuda	EACH	1			
1	M-066-0397	Air Charging Plug (Male/Fernale) P/o Barracuda	EACH	1			
18	M-066-0425	Air Filter Air compressor for repair of Air	EACH	1			
19	M-066-0496	Seal Kit Monitor Assembly P# C50/90144 P/o Barracuda	EACH	1			
20	M-066-0605	Filter Steering MANN P9 19/7 763314110 LFCT P/o Barracuda	EACH	1			
21	M-066-0639	Rubber Seal Power Divider 4 x 4 mm	EACH	1			
22	M-066-0653	Fuel Tank Cap p/o LFCT	EACH	1	1.22		
23	M-066-0778	Air Dryer Assy P.no.1188801 make Bendix Or Equivalent P/O Barracuda	EACH	1			
24	M-066-0798	Non Return Valve size 3/8" for Baracuda	EACH	1			
25	M-066-0814	Battery Charging Plug P/O Barracuda	EACH	1			
26	M-066-0874	O-ring Kit bumper turret P/O Barracuda	EACH	1	1.000		
27	M-066-0894	Valve Nitrogen High Pressure size 1/4inch	EACH	1		5. E	
28	M-066-0952	Hose Pipe 3"x 6" P/O Barracuda	EACH	1			

29	M-066-0953	Hose Pipe 2.5"x 6" P/O Barracuda	EACH	1			
30	M-066-0969	Air Manifold 10mm 5way P/O Barracuda	EACH	1	1		1
31	M-066-1012	Repair Kit for Power Divider Cviinder P/o Barracuda	EACH	1			1
32	M-066-1013	Repair Kit for P.T.O Cylinder P/o Barracuda	EACH	1			
33	M-066-0065	Quick Exhaust Valve P# 103474 P/O Barracuda LFCT 6x6	EACH	2			
34	M-066-0200	Double Check Valve P# BW 115177 P/O Barracuda LFCT 6x6	EACH	2			
	M-066-0364	Fan Belt P/No DYCO 11502405 P/O Barracuda LFCT 6x6	EACH	2			
35							
36	M-066-0554	R-15 Relay Valve Pneumatic make Bendix Or Equivalent P/o Barracuda LFCT 6X6	EACH	2			
37	M-066-0594	Map Reading Light for Baracuda	EACH	2			
38	M-066-0679	V-Belt # 3399 for Power Stearing of Barracudda LFCT	EACH	2			
39	M-066-0853	Repair Kit Hi / Low Cylinder Monitor P/O Barracuda	EACH	2			
40	M-066-0971	Air Manifold 6x10mm 6way P/O Barracuda	EACH	2			
41	M-066-0141	Pump pressure gauge #114617 P/O Barracuda LFCT 6x6	EACH	3			
42	E-002-0023	Painting brush 2 inch	EACH	4			
43	F-006-0141	Iron Sheet 4'X8' 18 Gauge	EACH	4			
44	G-018-0535	WD-40 Spray For rust Cleaner (400ml)	EACH	4	1		
45	M-066-0313	Thrust Washer STD# 5117005 P/O Barracuda LFCT 6x6	EACH	4			1
46	M-066-0492	1/2 inch Ball valve P/O Barracuda LFCT	EACH	4			1
47	M-066-0803	1/4 inch Ball valve for Barracuda LFCT	EACH	4			
48	M-066-0903	Clamp Hose 2" (S.S) P/O Barracuda	EACH	4			
	M-066-0956	Clamp Hose 3" P/O Barracuda	EACH				
49		Bulb 24v- 25w # MH 056201					
50	M-020-0133		EACH	5		1	
51	M-020-0134	Bulb 24V- 25/10W # MH 056200	EACH	5	-		
52	M-066-0176	Water Foam Inicator sensor P/O Barracuda LFCT 6x6	EACH	5			
53	M-066-0950	Main Bearing Set P# 5149568 / 5149565 P/O Barracuda	EACH	5	10.00	1	
54	H-002-0043	Silicon Tube	EACH	6			
55	M-066-0644	Hose Clamp Assoled Sizes	EACH	6'			-
56	M-066-0782	Elbow Push Fitting 10 X 1/4 P/o Barracuda	EACH	6			
57	M-066-0835	Rubber Seal Quick Coupling 2.5" P/O Baracuda	EACH	6	1		1
58	M-066-0911	Elbow 12mm x 1/2 P/O Barracuda	EACH	6			
59	M-066-0972	Ferrule Fitting Union 6mm x 6" inch P/o Barracuda	EACH	6			
60	M-066-0995	Branch Tee 1/4" P/o Barracuda	EACH	6			
61	M-066-0996	Branch Tee 3/8" P/o Barracuda	EACH	6			
62	M-066-1002	Connector ferrule fitting 12x1/2 P/o Barracuda	EACH	6			
63	M-066-1009	Ferrule Fitting Connector size: 10mm x 3/8° inch P/o Barracuda	EACH EACH	6			
64 65	M-066-1011 F-002-0390	Ferrule Fitting Union 8mm x 8' inch P/o Barracuda Battery Terminal large / Meduim Copper	EACH	8			
156	M-066-0949	Can Rod Bearing Set 0.20 US P# 5149577 P/O Barracuda	EACH	8			-
67	F-006-0117	Angle Iron 1" x 1" Inch (Required in Feet)	EACH	10			1
68	M-066-0944	Bush 3/8 x M22 P/O Barracuda	EACH	10			1
69	M-066-1010	Ferrule Fitting Connector 6mm x 1/4" inch P/o Barracuda	EACH	10			1
70	M-066-0395	Elbow ferrule litting 8x1/4 P/o Barracuda	EACH	12			
71	M-066-0549	Elbow Push Fitting 6mm x 1/4 P/o Barracuda	EACH	12			
72	M-066-0570	Connector ferrule filling 10X1/4 P/o Barracuda	EACH	12			
73	M-066-0741	Pneumatic Connector 8x1/4 P/o Barracuda	EACH	12			
74	M-066-0781	Elbow ferrule fitting 12 X3/8 P/o Barracuda	EACH	12			
75	M-066-0910	Elbow ferrule fitting 10 x 3/8 P/O Barracuda	EACH	12			1

a de la companya de

		3				-	C
76	M-066-0946	Bush 1/8 x 1/4 P/O Barracuda	EACH	12			
77	M-066-0947	Bush 1/4 x 3/8 P/O Barracuda	EACH	12		-	
78	M-066-1003	Ferrule Fitting Connector size: 6mm x1/8*inch P/o Barracuda	EACH	12			
79	M-066-1005	Ferrule Fitting Elbow Size: 6x1/8 P/o Barracuda	EACH	12			
<u>80</u>	M-066-0837	M/S Squire Pipe 14 swg size 1.5" X 1.5" X 10' feet P/O Baracuda	EACH	20			
81	F-002-0314	Bolt with Nut Size 8 x 25mm	EACH	24			
82	F-002-0452	Bolt with Nut 10 x 25 Inch	EACH	24	ļ		
83	F-003-0310	Bolt with Nut 6 x 25	EACH	24		<u> </u>	
84	M-066-0072	Brake lining (01 set = 01 wheels) # R3201/57G P/O Barracuda LFCT 6x6	EACH	24			
85	M-066-0899	Connector ferrule fitting 12x3/8 P/O Barracuda	EACH	24			
86	M-066-0732	Pneumatic Pipe 12mm P/O Barracuda (Required in feet)	EACH	26	1.1		
87	G-011-0102	Tefion Tape	EACH	42	-		
88	G-008-0168	Emery Paper 320-150-220 21/2	EACH	50			
89	M-081-0306	Auto Wire 5mm P/O OSHKOSH GENRATOR	Feet	1			
90	M-066-0901	Rubber Hose 2" P/O Barracuda	Feet	4			
91	M-066-0536	Pneumatic Pipe 4mm P/o LFCT	Feet	6			
92	M-066-0805	Nylon Pipe size 4" With SS Clamp for Baracuda	Feet	7			
93	F-006-0157	M/S Strip Iron 1.5" inch width	Feet	10			
94	M-066-0938	Pneumatic Pipe 8mm P/o Barracuda	Feet	15			
95	M-066-0737	Pneumatic Flexible Pipe 10mm P/o Barracuda	Feet	25			
96	M-066-0939	Pneumatic Pipe 6mm P/o Barracuda	Feet	25			
97	H-003-0083	Policate (Glasso)	Kilogram	2			
				2			
98	H-003-0131	Washing Powder	Kilogram				
99	H-004-0012	Grease	Kilogram	5			
100	H-005-0046	Coolant mixture for Baracuda NALCOOL - 2000 or Equivalent	Litre	3		1	
101	H-004-0064	Steering Oil DEX II	Litre	4			
102	H-004-0074	Hydraulic oil for Monitor Powerpack for Baracuda Shell Tellus 22 or Equivalent	Litre	10			
103	H-004-0010	Mixing Oil or Turpine Oil	Litre	20			
104	H-004-0114	Transfer Case Oil Shell Remola R1 SAE-40W for Oshkosh, Engine Oil for Barracuda	Litre	25			
105	H-005-0100	Thinner	Litre	30			
106	H-004-0115	Power Divider Oil SAE/SW-40/DEL.1310 / SAE 10W for Barracuda	Litre	40			
107	G-003-0224	Cotton malmal Cloth For Cleaning	Meter	5			
108	H-003-0002	Green Oll Paint ICI	Quart	1			
109	H-003-0172	Paint Mat Black (Faskol)	Quart	1		-	
110	H-003-0013	PAINT ENAMEL WHITE	Quart	2			
111	H-003-0015	Covering Paint	Quart	4			
112	H-003-0058	Paint red (Duco)	Quart	10			
113	G-011-0003	Plastic Tape 1"	Reel	4			
114	G-011-0068	Insulation Tape	Roll	4		1	

/			
1	5-	-1	
[- 1	
C		- 1	
£			

M-066-0101	Wiper Blade with Arms # 116072-9 P/O Barracuda LFCT 6x6	Set of	1			
M-066-0270	Ring set for air compressor #282525 std. P/O Barracuda LFCT 6x6	Set of	2			
H-003-0110	Liquor hardner for paint mixing	Set of	3			
H-003-0169	Oll Paint Black (quarter)	Tin	1			
H-003-0051	Paint gray	Tin	2			
	M-066-0270 H-003-0110 H-003-0169	M-066-0270 Ring set for air compressor #282525 std. P/O Barracuda LFCT 6x6 H-003-0110 Liquor hardner for paint mixing H-003-0169 Oll Paint Black (quarter)	M-066-0270 Ring set for air compressor #282525 std. P/O Barracuda LFCT Set of H-003-0110 Liquor hardner for paint mixing Set of H-003-0169 Oll Paint Black (quarter) Tin	M-066-0270 Ring set for air compressor #282525 std. P/O Barracuda LFCT Set of 2 H-003-0110 Liquor hardner for paint mixing Set of 3 H-003-0169 Oll Paint Black (quarter) Tin 1	M-066-0270 Ring set for air compressor #282525 std. P/O Barracuda LFCT Set of 2 H-003-0110 Liquor hardner for paint mixing Set of 3 H-003-0169 Oll Paint Black (quarter) Tin 1	M-066-0270 Ring set for air compressor #282525 std. P/O Barracuda LFCT Set of 2 H-003-0110 Liquor hardner for paint mixing Set of 3 H-003-0169 Oll Paint Black (quarter) Tin 1

Note:-

- a) Bidders are requested to read carefully and abide by the General Terms and Conditions printed on the reverse of I/T Form.
- b) Sample of contract is attached with bidding documents. Price quoted should be inclusive of all applicable taxes but excluding SST.
- c) For submission of bid please follow single stage two envelope procedure as per PPRA Rule-2004 clause 36 (b).
- d) Lowest bidder shall be declared on the basis of package price i.e. total cost of all items. All bidders must quote all items.

e) Technical Literature/Brochure must be attached. If any query may kindly be addressed to Adl. D. E&M.

TE	ENDER'S (SUPPLIER)				
	REF	GRAND TOTAL			
SIGNATURE	DATE	SIGNATURE OF ISSUING OFFICER			
NAME	TELEPHONE				

To be submitted with Financial Offer



CONTRACT BETWEEN PAKISTAN CIVIL AVIATION AUTHORITY AND M/S ABBASI TRDERS CONTRACT NO: HQCAA/1984/156/XXLA PROCUREMENT OF ITEMS / SPARES FOR BARRACUDA L-09 EX-NAWABSHAH UNDER REPAIR GED (SOUTH)

This contract is made this the ______ day of ______ two thousand _____

BETWEEN

The Pakistan Civil Aviation Authority (PCAA), statutory body established under the Pakistan Civil Aviation Authority Ordinance 1982, with its Head Quarters at Terminal No.1, Jinnah International Airport, Karachi, Pakistan, hereinafter referred to as the "Purchaser" (which term shall include its , authorized representatives and successor in interest) irough D. E.S of the First Part;

AND

M/s, Abbasi Traders a registered a Company, with its office at, 28 2nd Floor Dilkusha Chambers Marston Road Plaza Karachi, hereinafter, referred to as the "Supplier" (which term shall include its, authorized representatives and successors-in-interest) through Mr. Arshad Akber Abbasi (Proprietor) of the Other Part.

WHEREAS, it has been agreed that the Purchaser shall purchase and Supplier shall sell the items and or equipment, which shall hereinafter be referred to as "the Stores", particulars and details of which including price, have been given in Annex "A" to this contract.

The terms and conditions as stipulated in this contract shall constitute the entire agreement between the two parties and shall supersede any previous undertakings, commitments or representations whether oral or written in this regard



ABBAS Prophetor

VALUE HE

2.

Now, therefore, this contract witnessed as under: -

1(a). DEFINITIONS

- 1.1 "Consignee" means, O/IC CAA Logistics Centre (South) JIAP Karachi.
- 1.2 "Contract" means the present document signed by Purchaser and Supplier containing the contract terms and conditions together with the Annexure "A"thereto.
- 1.3 "Country of Origin" means the place where goods were manufactured, produced, received, or from which the services are supplied.
- 1.4 "Contract Price" means the price shown in <u>Annex "A"</u> to the contract.
- 1.5 "Equipment/Stores" means "Spares for Barracuda" and all other items to be supplied by the Supplier in accordance with Annex "A"
- 1.6 "Inspecting Authority" means the Director E.S Headquarters Civil Aviation Authority, Terminal No. 1, Jinnah International Airport, and Karachi, Pakistan.
- 1.7 "Inspecting Officer" means O/IC GED JIAP Karachi
- 1.8 "Purchaser "means the Civil Aviation Authority of Pakistan (Headquarters), Terminal No.1, Jinnah International Airport, Karachi-75200, Pakistan.
- 1.9 "Supplier "means M/s, Abbasi Traders

1(b) PARTICULARS

(a) INDENTOR:

OI/C Log Centre South

HQCAA/1984/156/XXLA

Dated: 16/02/2023

M/s, Abbasi Traders

O/IC Logistic Centre South JIAP Karachi.

- (b) INDENT™O: PR # 26536 dated 15- 06-2022
- (c) CONTRACT NO:
- (d) SUPPLIER:
- (e) CONSIGNEE:
- .

ABBASIT

(f) HEAD OF ACCOUNT:

(5206005) F.Y 2022 - 2023

stated at para 1.7

(g) SCHEDULE OF STORES:

(h) INSPECTING OFFICER:

(j) INSPECTING AUTHORITY.

Director E.S. HQ Civil Aviation Authority, Terminal No.1, JIAP, Karachi

As per attached ANNEXURE "A"





-27AH

E-27FtoH

prietor

2. DELIVERY

- 2.1. The Supplier shall deliver the stores, mentioned in Annexure A to the consignee within 90 days from the date of signing of this contract.
- 2.2 Part Delivery/Part Payment is allowed within the time frame described in para 2.1.

3. PERFORMANCE BOND OR SECURITY DEPOSIT

- 3.1 For due, satisfactory and timely supply of the Equipment or Stores, the Supplier shall furnish to Civil Aviation Authority a Performance Bond or Security Deposit of 10% (Ten percent) of the total value of the contract at the time of signing of this contract. The Supplier shall keep the Performance Bond or Security Deposit valid till satisfactory completion of the contract, including the completion of warranty period. This Performance Bond or Security Deposit shall be in shape of: -
 - (a) Demand Draft or Pay Order in the name of Civil Aviation Authority, Karachi from any scheduled bank of Pakistan. OR
 - (b) Bank Guarantee from a bank acceptable to CAA on approved format
- 3.2 The Supplier shall have no claim against the Purchaser in respect of interest on Security Deposit or depreciation of currency, what so ever.
- 3.3 On satisfactory performance of the contract and completion of warranty period, as applicable the Security Deposit or Performance Bond will be returned to the Supplier.
- 3.4 In case of unsatisfactory performance of the Supplier or in the event of any breach of terms, given in the contract till completion of warranty period, the Purchaser may forfeit the Security Deposit or en-cash the Performance Bond in all or in part as deemed fit and proper by the Purchaser.

TERMS OF PAYMENT

- 4.1 The Supplier shall submit original invoice/ bill in triplicate along with Sales Tax Invoice to Additional Director Log (APS) HQ CAA JIAP, Karachi, along with the following documents: -
 - 4.1.1 Certified Receipt Voucher (CRV) issued by the Consignee.
 - 4.1.2 A copy of Professional Tax Certificate issued by the Excise and Taxation Office
 - 4.1.3 A copy of National Tax Certificate issued by the Income Tax Department
- 4.2 Payments of the stores shall be made within 30 days upon issue of receipt voucher indicating receipt of the store by the purchaser without any discrepancy / defect and submission of bill with complete documents.

The Supplier shall ensure due payments of all the duties and taxes including that of Federal Government or the Provincial Government excluding SST / provincial Service Tax and submit an under taking that all Government taxes for the supply of goods (and allied services if any) have already been paid or submit proof of such payments at the time of submission of bills for payment

5. PRICE(S)

prietor

3BASI TI

The prices mentioned in Annex "A", are firm and final.



ITAL MEANS -STAR

-27AH

E-27FtoH

6. WARRANTY

The Supplier shall warranty the Stores for a period of one (01) Year standard manufacturer warrantee from the date of receipt in the Consignee's Warehouse or from the date of installation and commissioning of Equipment, whichever is applicable, against any design or manufacturing defect, bad workmanship or faulty material. In case of any defect, fitment problem or discrepancy of any nature whatsoever, the Supplier shall replace defective Equipment and/ or Store free of cost. In case supplier fails to replace the defective Store and or Equipment within 60 days of intimation by the Purchaser, the Supplier shall refund the cost of the Stores in currency in which received within 15 days, after the above mentioned 60 days, otherwise the Purchaser shall have the right to take action under clause 8 of the contract and/ or forfeit the Performance Bond or Security deposit.

7. QUALITY OF STORES

The Supplier shall ensure that the Stores being supplied against this contract are new, unused and conform to the specifications, description given in the Annex "A" and shall be replaced free of cost if found defective on Acceptance Test by the Inspecting Officer, as per clause 10 hereof. =-27AH

E-27FtoH

8. FAILURE AND TERMINATION

Should the Supplier fail to deliver the Stores/Equipment or any part thereof to the Consignee within the prescribed period or within such extended period as may be agreed in writing by both the parties, the Purchaser shall on expiry of 09 days' grace period be entitled to take either of the following actions: -

8.1 To cancel the contract and/ or forfeit the Security Deposit as per clause 3.4 of this contract after giving seven days' written notice to the Supplier and/ or initiate case for suspension or de-registration of the Supplier from the approved list of CAA suppliers.

OR

8.2 To cancel the contract and or purchase from elsewhere the defective or the un-supplied Stores at the risk and expense of the Supplier, after giving him seven days written notice. The Supplier shall be liable for any loss, which the Purchaser may sustain on this account, but shall not be entitled to any gain on repurchase.

9. LIQUIDATED DAMAGES

The Purchaser shall have the right to impose liquidated damages at the rate of two percent (2%) per month of the value of the un-supplied Stores or any part thereof for the period exceeding the delivery period, subject to the provision that the total amount thus levied shall not exceed ten percent (10%) of total Contract value of the un-supplied Stores. The liquidated Damages shall not be imposed if the complete delivery of stores as per Annexure "A" to the contract with incidental services (if any) is accomplished by the supplier within grace period as defined in clause 8 above.

10. INSPECTION

10.1 An inspection of the Stores be arranged at Consignee's premises (or at the Supplier premises) by Inspecting Officer or his representative to check the quality of the Stores, and the Inspecting Officer will sign or issue the acceptance or rejection certificate.



Aviation Authority's premises, shall be at the Supplier's risk and expense. Toprietor Damaged Stores shall not be accepted. The Supplier shall remove the rejected or damaged Stores within 7 days at his expense.

DACKINIC -- DIE

-4-



11. PACKING

The Stores shall be duly and appropriately packed in original manufacturer packing. No loose Stores shall be accepted at the time of delivery.

-5-

12. SETTLEMENT OF DISPUTES

In case of any difference or dispute arising between the Purchaser and the Supplier in respect of the interpretation, conduct or performance of any terms & conditions of this contract, the same shall be referred to DG CAA for decision, which shall be final and binding upon both the parties to this contract

13. INDEMINTY

The supplier shall indemnify the purchaser against all third party claims, including claims of infringement of patent, trademark, industrial design rights arising from use of the goods orany part thereof

14. FORCE MAJEURE

 No party shall be liable for any failure/delay in performing their obligations due to any cause beyond reasonable control including without limitation, fire, act of public, enemy, war, rebellion, insurrection, fire accident, act of God and act of State or of the judiciary.

15. CORRESPONDENCE

All correspondence pertaining to this contract shall be addressed to the Additional Director Logistics APS, HQCAA, JIAP Karachi, for the Purchaser and to the **M/s**, AbbasiTraders, for the Supplier.

16. AMENDMENTS

The contract may be amended or modified with the mutual consent and/or agreement in writing by both the parties to the contract.

17. HSE MANUAL

CAA HSE Manual shall be duly complied /abide by the supplier.

18. LAW GOVERNING

The laws of Pakistan shall govern this contract.

IN WITNESS WHEREOF THE PARTIES HAVE SIGNED THIS AGREEMENT AT KARACHI ON THE DATE MENTIONED ABOVE.

ash

Vor and

for and on behalf of the Supplier

for and on behalf of the Purchaser

Director-Engineering Services

ADERS SA ABBA Proprietor

1.

(M/s, AbbasiTraders) witness

42201-4468209-5

Distribution

- 1. O/IC CAA Logistics Centre (South) JIAP Karachi
- 2. Additional Director Disb. HQCAA, JIAP, Karachi
- 3. Additional Director E/M Works HQCAA, JIAP, Karachi
- 4. O/IC GED JIAP Karachi
- 5. Fixed Assets &Inv Cont. Section HQ CAA Karachi
- 6. M/s, Abbasi Traders

1 Copy 1 Copy 1 Copy 1 Copy 1 Copy 1 Copy

0872

CAS

E-27AH

E-27FtoH

Annexure A to contract No HQCAA/1984/156/XXLA Dated 16 0 2 2023

SCHEDULE OF STORES CONTRACT_NO CAA/1984/156/XXLA PROCUREMENT OF ITEMS / SPARES FOR BARRACUDA L-09 EX-NAWABSHAH UNDER REPAIR GED (SOUTH)

M/s, Abbasi Traders

ABBA

S.No.	DESCRIPTION	QTY	UNIT PRICE (Rs)	TOTAL PRICE (Rs)
1.	Cotton Waste	Dozen-1	980	980
2.	Filter Engine Oil P# PF911L / 23530407 P/o Barracuda (DDC USA)	EACH-1	5800	5800
3.	Air Filter (Ouler) P# Donaldson P77-2536 Or Equivalent P/o Barracuda (USA)	EACH-1	22950	22950
4.	Air Filter (Inner) P# Donaldson P77-1073 Or Equivalent P/O Barracuda (USA)	EACH-1	15500	15500
5.	Cap Radiator P# 103392 P/o Barracuda (Japan)	EACH-1	1500	1500
6.	Oil Seal Front Engine # 23514608 P/O Barracuda LFCT 6x6 (FP USA)	EACH-1	4400	4400
7.	Oil Seal rear engine # 5106329 P/O Barracuda LFCT 6x6 (DDC USA)	EACH-1	38500	38500
8.	Cylinder Head Gaskit P# 5199674 P/O Barracuda (FP)	EACH-1	15850	15850
9.	Transmission Filter P# PALL, HC 8200 FKN-8Z P/o Barracuda (fleet guard)	EACH-1	13950	13950
10.	Ouad Protection valve repair kit #107245 make Bendix Or Equivalent P/O Barracuda LFCT 6x6 (Korea)	EACH-1	7950	7950
11.	Cabin Tube Light P/O Barracuda LFCT 6x6	EACH-1	1850	1850
12.	Repair Kit for Monitor Diffuser Cylinder P/o Barracuda (Japan)	EACH-1	17400	17400
13.	Power Divider Filter P# UCC,63124 P/O Barracuda (USA)	EACH-1	20980	20980
14.	Air lubricator of FRL unit P/O Barracuda LFCT 6x6	EACH-1	15900	15900
15.	Valve set p/o air-compressor P/O Barracuda LFCT 6x6	EACH-1	3500	3500
_16.	Repair Kit Lock/ Un-Lock Cylinder Monitor P/o Barracuda (Japan)	EACH-1	7900	7900
17.	Air Charging Plug (Male/Fernale) P/o Barracuda (Korea)	EACH-1	1850	1850
18.	Air Filter Air compressor for repair of Air	EACH-1	1500	1500
19.	Seal Kit Monitor Assembly P# C50/90144 P/o Barracuda	EACH-1	41500	41500
20.	Filter Steering MANN P9 19/7 763314110 LFCT P/o Barracuda	EACH-1	3500	3500
21.	Rubber Seal Power Divider 4 x 4 mm	EACH-1	3200	3200
22.	Fuel Tank Cap p/o LFCT Barracuda	EACH-1	3950	3950
23.	Air Dryer Assy P.no.1188801 make Bendix Or Equivalent P/O Barracuda (Turkey)	EACH-1	15500	15500
24.	Non Return Valve size 3/8" for Barracuda (Korea)	EACH-1	2750	2750
25.	Battery Charging Plug P/O Barracuda (China)	EACH-1	3290	3290
26.	O-ring Kit bumper turret P/O Barracuda (Japan)	EACH-1	4850	4850
27.	Valve Nitrogen High Pressure size 1/4inch	EACH-1	6400	6400
28	Hose Pipe 3"x 6" P/O Barracuda	EACH-1	3100	3100
29.	Hose Pipe 2.5"x 6" P/O Barracuda	EACH-1	3150	3150
30.	Air Manifold 10mm 5way P/O Barracuda (Korea)	EACH-1	4000	4000
31.	Repair Kit for Power Divider Cylinder P/o Barracuda (Korea)	EACH-1	7200	7200
32.	Repair Kit for P.T.O Cylinder P/o Barracuda (Japan)	EACH-1	7200	7200
33.	Quick Exhaust Valve P# 103474 P/O Barracuda LFCT 6x6 (Korea)	EACH-2	4800	9600
34.	Double Check Valve P# BW 115177 P/O Barracuda LFCT 6x6 (Korea)	EACH-2	4500	9000
35.	Fan Belt P/No DYCO 11502405 P/O Barracuda LFCT 6x6 (USA)	EACH-2	2450	4900
-36	R-15 Relay Valve Pneumatic make Pandix Or	EACH-2	7900	15,800
ADE	Requivalent P/o Barracuda LFCT-6X6 (Korea)			131 - 121 - 121
37.	Map Reading Light for Barracuda	EACH-2	2150	4900 : 9
_ 38.	V-Belt # 3399 for Power Steering of Barracuda LFCT	EACH-2	1650	3300

E-27AH

27FtoH

	39.	Repair Kit Hi / Low Cylinder Monitor P/O Barracuda (Japan)	EACH-2	6500	13000
	40.	Air Manifold 6x10mm 6way P/O Barracuda (Korea)	EACH-2	4000	8000
	41.	Pump pressure gauge #114617 P/O Barracuda LFCT 6x6 (Germany)	EACH-3	7750	23250
	42.	Painting brush 2 inch	EACH-4	750	3000
	43.	Iron Sheet 4'X8' 18 Gauge (Pak)	EACH-4	9950	39800
	44.	WD-40 Spray For rust Cleaner (400mi)	EACH-4	990	3960
	45.	Thrust Washer STD# 5117005 P/O Barracuda LFCT 6x6 (DDC)	EACH-4	4650	18600
	46.	1/2 inch Ball valve P/O Barracuda LFCT (USA)	EACH-4	1890	7560
	47.	1/4 inch Ball valve for Barracuda LFCT (USA)	EACH-4	1350	5400
	48.	Clamp Hose 2" (S.S) P/O Barracuda (Japan)	EACH-4	450	1800
	40.	Clamp Hose 2" (3.5) P/O Barracuda (Japan) Clamp Hose 3" P/O Barracuda (Japan)	and the second se	and an including the second second	the second se
	50.	Bulb 24v- 25w # MH 056201 (Germany)	EACH-4	500	2000
	51.	Bulb 24V- 25/10W # MH 056201 (Germany)	EACH-5	140	700
	52.	Water Foam Indicator sensor P/O Barracuda LFCT 6x6	EACH-5	140	700
	53.		EACH-5	2500	12500
	03.	Main Bearing Set P# 5149568 / 5149565 P/O	EACH-5	10800	54000
+	EA	Barracuda	540110		0.100
}	54.	Silicon Tube	EACH-6	400	2400
1	55.	Hose Clamp Assorted Sizes	EACH-6	690	4140
	56.	Elbow Push Fitting 10 X1/4 P/o Barracuda	EACH-6	1250	7500
	57.	Rubber Seal Quick Coupling 2.5" P/O Barracuda	EACH-6	400	2400
-	58.	Elbow 12mm x 1/2 P/O Barracuda (Korea)	EACH-6	1900	11400
	59.	Ferrule Fitting Union 6mm x 6" inch P/o Barracuda (Korea)	EACH-6	1150	6900
[60.	Branch Tee 1/4" P/o Barracuda (Korea)	EACH-6	1200	7200
1	61.	Branch Tee 3/8" P/o Barracuda (Korea)	EACH-6	1500	9000
	62.	Connector ferrule fitting 12x1/2 P/o Barracuda (Korea)	EACH-6	1800	10800
	63.	Ferrule Fitting Connector size: 10mm x 3/8" inch P/o Barracuda (Korea)	EACH-6	1300	7800
	64.	Ferrule Fitting Union 8mm x 8' inch P/o Barracuda (Korea)	EACH-6	1200	7200
1	65.	Battery Terminal large / Medium Copper	EACH-8	300	2400
	66.	Can Rod Bearing Set 0.20 US P# 5149577 P/O	EACH-8	6700	53600
-	67	Barracuda	EAOU 40	450	1500
+	67.	Angle Iron 1" x 1" inch (Required in Feet) (Pak)	EACH-10	450	4500
	68. - 69.	Bush 3/8 x M22 P/O Barracuda (Korea) Ferrule Fitting Connector 6mm x 1/4° inch P/o	EACH-10 EACH-10	400 880	4000 8800
		Barracuda (Korea)			
ł	70.	Elbow ferrule fitting 8x1/4 P/o Barracuda (Korea)	EACH-12	1100	13200
	71.	Elbow Push Fitting 6mm x 1/4 P/o Barracuda (Korea)	EACH-12	1200	14400
	72.	Connector ferrule fitting 10X1/4 F/o Barracuda (Korea)	EACH-12	1200	14400
	73.	Pneumatic Connector 8x1/4 P/o Barracuda (Korea)	EACH-12	1200	14400
	74.	Elbow ferrule fitting 12 X3/8 P/o Barracuda (Korea)	EACH-12	1700	20400
	75.	Elbow ferrule fitting 10 x 3/8 P/O Barracuda (Korea)	EACH-12	1650	19800
	76.	Bush 1/8 x 1/4 P/O Barracuda (Korea)	EACH-12	290	3480
	77.	Bush 1/4 x 3/8 P/O Barracuda (Korea)	EACH-12	400	4800
	78.	Ferrule Fitting Connector size: 6mm x1/8"inch P/o Barracuda (Korea)	EACH-12	800	9600
1	79.	Ferrule Fitting Elbow Size: 6x1/8 P/o Barracuda (Korea)	EACH-12	1200	14400
	80.	M/S Squire Pipe 14 swg size 1.5" X 1.5" X 10' feet P/O Barracuda (Pak)	EACH-20	750	15000
ł	81.	Bolt with Nut Size 8 x 25mm (Pak)	EACH-24	40	960
	82.	Bolt with Nut 10 x 25 inch (Pak)	EACH-24	45	1080
ł	83.	Bolt with Nut 6 x 25 (Pak)	EACH-24 EACH-24	40	960
	84.	Brake lining (01 set = 01 wheels) # R3201/57G P/O	EACH-24	40	35760
ŀ	85.	Barracuda LECT Gx6 (Pak)	EACH-21	4000	10000
	86.	Connector ferrule fitting 12x3/8 P/O Barracuda (Korea) Pneumatic Pipe 12mm P/O Barracuda (Required in	EACH-21 EACH-25	<u>1800</u> 450	43200
		feet) (Korea)			11250
	87.	Teflon Tape (Korea)	EACH-42	25	1050
ļ	88.	Emery Paper 320-150 220 21/2 (Korea)	EACH-50	120	6000
1	89.	Auto Wire 5mm P/O OSHKOSri GENRATOR (China)	Feet-1	990	990
	90.	Rubber Hose 2" P/C Barracuda (Taiwan)	Feet-4	1350	5400
ļ	91	Pneumatic Pipe 4mm P/o LFCT (Korea)	Feet-6	160	960
	92.	Nylon Pipe size 4" With SS Clamp for Barracuda Recrea)	Fect-7	650	4550
A	2 A93.	M/S Strip Iron 1.5" inch width (Pak)	Feet-10	800	8000-1
1	3 / 94.	Poeumatic Pipe 8mm P/o Barracuda (Korea)	Feet-15	250	37502
1.10	3 95h	Prieumatic Flexible Pipe 10mm P/o Barracuda (Korca)	Feet-23	220	7005.0
Y	(M) 4 8 1 1				
Y	96.	Pneumatic Pipe 6mm P/o Barracuda (Korec)	Feet-25	200	5000

E-27AH

E27FtoH

98.	Washing Powder	Kilogram-2	960	1920
99.	Grease (Korea)	Kilogram-5	1250	6250
100.	Coolant mixture for Barracuda NALCOOL - 2000 or Equivalent	Litre-3	3550	10650
101.	Steering Oil DEX II (Caltex)	Litre-4	1590	6360
102.	Hydraulic oil for Monitor Power pack for Barracuda Shell Tellus 22 or Equivalent (Shell)	Litre-10	1150	11500
103.	Mixing Oil or Turpine Oil	Litre-20	350	7000
104.	Transfer Case Oil Shell Remola R1 SAE-40W for Oshkosh, Engine Oil for Barracuda (Caltex)	Litre-25	1250	31250
105.	Thinner (iCI)	Litre-30	1190	35700
106.	Power Divider Oil SAE/SW-40/DEL 1310 / SAE 10W for Barracuda (Caltex)	Litre-40	1050	42000
107.	Cotton malmal Cloth For Cleaning	Meter-5	90	450
108.	Green Oil Paint (ICI)	Quart-1	1890	1890
109.	Paint Mat Black (Faskot)	Quart-1	1450	1450
110.	PAINT ENAMEL WHITE (ICI)	Quart-2	1890	3780
111.	Covering Paint (ICI)	Quart-4	1800	7200
112.	Paint red (Duco) (Faskot)	Quart-10	1800	18000
113.	Plastic Tape 1"	Reel-4	600	2400
114.	Insulation Tape (Japan)	Roll-4	50	200
115.		Set of-1	7600	7600
116.	Ring set for air compressor #282525 std. P/O Barracuda LFCT6x6 (Japan)	Set of-2	7500	15000
117.	and and the rest fail that the second s	Set of-3	6400	19200
118.	Oil Paint Black (quarter) (ICI)	Tin-1	6950	6950
119.	Paint gray (ICI)	Tin-2	6950	13900
	Total Price inclusive of GST			1231,400/

F.O.R Logistics Centre (S) Karachi

(Rupees: One Million Two Hundred Thirty-One Thousand Four Hundred Only)

ABBASI

2

Alle

SYED SHAHZAD RAZA TIRMAZI Sr. Deputy Director (Mechanical) Engineering Services Directorate HQ Civil Aviation Authority

200



y

E-27AH

E27FtoH

FINAL EVALUATION REPORT As Per PP RULE-2004, CLAUSE-35

- 1. Name of Procuring Agency:
- 2. Method of Procurement:
- 3. Title of Procurement:
- 4. Tender Inquiry No.:
- 5. PPRA Ref. No. (TSE):
- 6. Date & Time of Biding Closing:
- 7. Date & Time of Biding Opening:
- 8. No. of Bids Received:
- 9. Criteria for Bid Evaluation:
- 10. Detail of Bid(s) Evaluation:

CIVIL AVIATION AUTHORITY

Single Stage Two Envelop Procedure
PROC. OF ITEMS/SPARES FOR BARRACUDA
HQCAA/1984/156/XXLA
TS-489585E
27-09-2022-----11.00hrs
27-09-2022-----12.00hrs

ANNEXURE -

01

Compliance Based

Name of Bidder		Ma	arks		Rule/Regulation/SBD*/Polic		
		Technical (if applicable)	Financial (if applicable)	Evaluated Total Cost	γ/Basis for Rejection / Acceptance as per PP Rules-2004 Clause-35		
01	M/s. Abbasi Traders	Compliant	-	1,231,400/-	Responsive & most advantageous bid as per of PP Rule-2004, Clause-2 (h)		

Most Advantageous Bid Evaluated: M/s. Abbasi Traders

11. Any other additional / supporting information, the procuring agency may like to share.

Signature: